

Convertir Fahrenheit a Celsius (F)

Estime o convierta las temperaturas.

$6^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$14^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$0^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-93^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$22^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-55^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-89^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$71^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-99^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-96^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-69^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$61^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$97^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$46^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-23^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$88^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$50^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-33^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-60^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-32^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-20^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$68^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$37^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-54^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-45^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-42^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$24^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-92^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-83^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-54^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$